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S lenghtof spring
dirà
K springconstant

È megntiz oI1ABli2l
neglimess

Lagrangian with Va

y A
First integrals

di TE D è asino d coso

05 l asino e sin 72 0 acosa l cos 712 0

I asino e lo so oleoso esimo

Finally
Ot_ asino lcoso s cosa a cosa l sino Sano

Therefore

Ip di cosa là sino sò sino 5 coso
d'asino là coso i sò cosa 5 sino

Hence

Ifpi d'è età 54 s'è 295 è 220.5

K IMIIPP_In d'è l'è 757 s'è 2esò 21015

Vee Ks

L K Va L S SÒ

iiof theD O is a Gelie coordinate p the corresponding angular

Cong momentum is a conserved quantity

i IT
Moreover the other Log r.ca gives

Il I O mi mai mò medas



Towards rigid motions The fundamental formula of
rigid motions

L D theorem with proof

Tuardstigiamatisuppose
to know the motion of a point respect to

a fixed orthonormal base o est est e

1,0 0 o 1,0 o 9 a for example
we want to know the motion of the point art a

orthonormal base in motion 0 la la e 3

mi èci

we remark that V ter I At invertible matrix such that

li t Atei 1 tt i 1,2 3

In particular Az i li E t a Hi 1,33

that is At is the matrix whose J column is given

by components of the vector e with respect to

the base ei ei e

Prep when the two basis are orthonormal that is

ei.ly li li Sig ti 1,2 3

then At is orthogonal that is AI tè
Equivalently At E O 3

Prof In the roof we omit the dependence on ter

A in li.ly Therefore

ATA È AT in A n

È A ki A ng
È lei ei ei.es
KEI

li e Si



D ATA E I D A A_ UTER to

As a Consequence

At At L we obtain det At At
det Af I D det Az 1 or det At 1

92
In particular if the base in motion is

g y
then the nati x Az has dat 1

a te R So At is a rotation Az E 5013

if the base in odio is

Gfathen the matrix At has

det 1 A TER So Az is a reflection

li Atei p

è t Atei Ataf
A Atei t

1
AE AE
since At E 013

Pag t is At E So 3 differentiable

Then AzAt is antisimmetrica that

AAI ALAE

Equivaluty À Af e Skew 13 t te R

POI AI AI 0 I Ata è
Now derive Wrt T E R

I At AI D Ataf



Ital Ataf ALAI Ataf

Ataf ALAI D

Prof I isomorphism of vector spaces

between R
3 and Skew 3 The isomorphism

is defined as follows 0 wa wa

R'ai I è wa o na

na na d

a

Skew 3

Prof The map R Skew 3

is linear and invertible Ma

in our case Ae AE e Skew 3

Ht ER Then I 5 t ER
3 Sat

It t It AI E Skew s tte r

Therefore

è t LAICI t

E SKEW 3

0 W Wz

3 0 na

na a o

lice



t a li t

E
How to express è t È t è 3 t

with respect to es t e t e 3
Z

By means a unique rector I t

fiitts
iithismw.us

Ieeu m

respect to è t ei it

li 1 è li w nei

W li co li D

iI lei nei E ci lei a ci

3W w 2W
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Tesimplestample GRotation

on a

plane

è
between et and es

At II
sino

cosa

À AI
o _è o

ò 0 0

O O O

Ict

a

RjIFfinof points

aio ei ei e

Olt la t Ca t 93 t



fixed base a base in motion respectively

Def The movement of S is Rigid if the

distance of each pair of points of 5

remains fixed

In such a casa there is a special bare
in motion we can use The one cuore

components of vectors of points in S

remain Constant solidale That is

OP Lt 2cal t te la E 23 e t

4

Pi Olt

0Pa t e Y Ca t Y la t t Y 3 e 3 t

Obi t 05 t

ha l'a t 22 È t 23 È t

Ya è E y è t y è 3
t

se ya Enea 72 ya è 1 la

23 13 51 lag E 1

Paia



4
E Pi Pg

E VI ctnPP.FM Fundamental

formula of
rigiannations

Pi P

X X X

Iiii ama

not depending on time I fixed not depending

on velocities holonomic

Qui 9,4 Qi 19 Q 4 4

Such that

i Qi q 2
positional

conservative

forces

it Qi 4 G St 95 9 a e 0

and If at 9 4 4h E 0

Let suppose that IN Ca e o k

han
4 o is an equilibrium



IF at is a strict minimum of V

THEN Calo is stable

X

D Qi 9,4 is called Gyroscopic

il Qi ca G ai neo Canalis force

2 Qui G G is called Dissipative

il Qi Cgia È 20 viscous force

FMI


